~ Z % (potential) ~% L &9 (let’s)

x = Move back two spaces. x = Move to Iz ®d.

Plain negative

x = Move back three
spaces.

x = lose a turn.

....................................................................................................................................

Negative Past ~7z\» form

x = Move back three
spaces.

------------------------------------------------------------------------------------------------------------------------------------

Negative ~7z\> form

x = Move back three
spaces.

....................................................................................................................................



Negative past ~7z\> form ~ X A7 form

x = Move back two spaces. x = Move back one Space.

------------------------------------------------------------------------------------------------------------------------------------

....................................................................................................................................

Lose one turn . Move forward one space.



